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1. The 53t/ derivative of cos z is — sin . ( 52.% e ‘T )

sinf Y
i i = -, b 6¥€ i‘{’t)')
2 Find i o end — 2 (5>
3. Find lirrg}xcot:c = s (’5 2% e b)

4. 1 F(z) = f(3f(4f(x))) with £(0) = 0 and (0) = 2, then F'(0) = 96. (‘3?-5 6"@“)

—sin(z + y) — ycos(zy) ( holb exe lQ>

. B i
>, Isinjey) = sos{e+y), heng = — cos(zy) + sin(z +y)

6. If f(z) = tan(sec(sinz)), find f'(z) = sec?(sec(sin)) sec(sinz)tan(sinx) cos z. (% 2.5 exe 3%)

. m r)_‘>
7. tan2 o (!57.0\ e >

8. The absolute maximum value of f(z) = 2cost + sin 2t on the interval [0, g} is —2—\/_ ( 5323\ ee 55 )

9. If y =3+ 2% ¢ =1and dr = —0.1, find the differential dy = —0.05 . (fg 24 et 7] )
IL 3+ 5 ~ A (60 )

d
1. (a) Prove that e tanz = sec’z. (b)Find " if 2% + v = 16 (R AL ).
T

2. Find the linearization of the function f(z) = v/ + 3 ata = 1 and use it to approximate the

number 1/ 3.98.

S€eC T

3. Differentiate f () = m——
an T

tangent ?

. For what values of  does the graph of f have a horizontal

4. Differentiate (a) y = v/sec(z?).  (b)y = cos*(sin’ z).

5. (a)Find /' if 2° + y° = 6zy. |
(b) Find the tangent to the folium of Descartes z° + y* = 62y at the point (3, 3).
(c) At what point in the first quadrant is the tangent line horizontal ?

el

6. Find the critical numbers of (2) f(z) = 25(4 — z). (b) f(z) = 4z —tanz.
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2% — 332 o
1 | (o) () — 4 - AT (a)2.4— B 2B 18
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(B)2.6 — 518 4
2 1.995 29— {57 1
T

3 |s=nr+TneN 2.4 — 458 2
4 a) ——— sec(z®) tan(z®)2?

()5 e )

(b) — 12 cos®(sin® z) sin(sin® z) sin® z cos = 2.5 — ]88 8, B RE 44

2y — z°
I

9 (a)y’ = y? — 21

(b)The tangent line is y — 3 = —(z — 3)

(c)r =25,y = 23 2.6 — {5|%8 2
6 (a):tz%,o (b)xz:tg—i—mr,nEN 3.1 — 45|76 7, B 4 40




